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Low Pass Butterworth Filter Design
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As we know, when the input current is |, the average power
dissipated by one-port netwark is zero:

Average Power=
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Z(s) or Y(s) is the ratio of even to odd or odd to even!!




"|'éry roots,
(s) or Y(s) are on the

imaginary axis.

* Consider the example
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The ar ‘inat()r
polynomials can differ by, at most,

EX) highest order of the numerator : 2n -> highest order of the
denominator can either be 2n-1 (simple pole ats= ) or

the order can be 2n+1 (simple zero ats= ).



